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Population Age vs. Length w/ simulation input growth
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S1_Auric_lowF population and harvest histograms
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S1_Auric_lowF POS supp sm FALSE supp Ilg FALSE : A Few Bootstraps

samp boot 1 n= 300

samp boot 2 n= 300

samp boot 3 n= 300

— o — o —
— Lo 1 M n I
o o
< <
o o
™ ™
o o
N N
o o
— —
o o
I I I ] I I I ] I I I ]
10 20 30 40 10 20 30 40 10 20 30 40
samp boot 4 n= 300 samp boot 5 n= 300 samp boot 6 n= 300
— o — o —
— Lo 1 M n I
o o
< <
o o
™ ™
o o
N N
o o
— —
o o
I I I ] I I I ] I I I ]
10 20 30 40 10 20 30 40 10 20 30 40
samp boot 7 n= 300 samp boot 8 n= 300 samp boot 9 n= 300
= o — o —
— Lo 1 M n I
o o
< <
o o
™ ™
o o
N N
o o
— —
o o
I I I ] I I I ] I I I ]
10 20 30 40 10 20 30 40 10 20 30 40

Length



